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tangent line to y = f(x) at (2,7)
y—7=8(x—2)
“linearization” of f(x) at x = 27

(a) 8

(b) 8(x — 2)

(c)7+8(x—2)

(d) none of the above
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f(5) = -2, f(5)=23
Linear approx. to f(z)
at xt =57

(a) 23 — 2(z — 5)

(b) 5x2 + 23z — 2

(c) =2 4+ 23(x — 5)

(d) none of the above
0% 0% 0% 0%

> Vv

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

00f 5 Topic 0540 10 pts "




Newton’'s method

for solving e + 12 =
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(@) 17 tex)z (d/dx)(arctane®) = 77

(b)  (arcsec2e®)(e®)

(d/dx)(arctanz) =

1
(©) 1 aya

(d) none of the above

xZ

0% 0% 0% 0%

= e @ N
1+ (e®)2 |7 N . -

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

Correct answer:

13

0of5 Topic 0440 10 pts




flg(z)) == —
/(9@ ()] = 1 g=J
£/ (g(T)[g (7] = 1 f(4) =7, o(7) =4

fl(4) =2, ¢/(7) =77

(a)1/2

(b) 4

(c)0

(d) none of the above
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4
/ 2 dx via limit of Riemann sums,
3

then via Fund. Th'm of Calculus.

5 (o4 2) = am S (o4 4 )
= n'Lmoo% (9n +g [”(”;' 1)] n 732 [n(n + 1)6(2n + 1)])
i (540D DG 1)
:9+g+§ :g = 64;27 :43;33 _ [fr:%



LOOK BACK (RELATED RATES)

A 25 ft ladder is leaning against a vertical wall.
The floor is slightly slippery and the foot of
the ladder slips away from the wall at a rate of
0.2 in/sec. How fast is the top of the ladder
sliding down the wall when the top is 20 ft
above the floor?
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